A MA|feEgm | % = 10.0mBL LORE o |mmoOme s % []3.0mLLE
. ———— = 5.0mELE 10.0mEBDXE ;5 L 3.0mLLF 5.0mEs | 5B 0m2 5 MRS, y
| EERSEIEH | & [T Tsonilesons soecs| 35 (= 20mELE 30me8 | 58 (L0 L1.0mBLE 3.0mAS - [ k| [ : L
) (1AL BERF = 0.5mELE 3.0mARDRE | & T.OmMLFE2.0m=% | 28 [50[0.5mb : - IERERERRE | = TOAREEENXS LERRRRIX 16717
WEEEFT i : = 0.3mPAE 1.0mEdm | & omMELE 1.0mAE 7L I:Iétﬁt i) = i To 1o [
0.5mABOKE, i=% [Bm[0.01mL M S - 7k SERHERX = SRR R :
3 Sl TomE s ] o 2 i R SRR IR E N s@x) [18]19]20
— NN SRR, | BRLDALERIIR | RS

[\J)

/
E ﬂ,ug




